Virginia High School League

Scholastic Bowl, 2002-03 season

State Competition, Match #3

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell, Adam Fine and Chris Moretti are the authors of these questions, which were also edited by Samer Ismail.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 tossups

1.
For ten points, the smooth endoplasmic reticulum (ER) lacks which cellular organelles used for protein synthesis?

ANSWER:  ribosomes
2.
It produces a result by measuring the amount of human chorionic gonadotropin, or HCG, present in the blood and urine.  Also useful in detecting tumors, for ten points, is what type of test that can be bought over the counter in brands such as First Response and EPT?

ANSWER:  pregnancy test

3.
As an eighteen year old, he showed more interest in literature and music than in conquest; his father did not like that, and forced him to witness the execution of his friend, Lieutenant Katte.  For ten points, what man succeeded his father as King of Prussia in 1740, proving to be a military master during the War of Austrian Succession and the Seven Years’ War?

ANSWER:  Frederick the Great (or Frederick II)

4.
Divided into at least two traditions, it consists of two parts:  the isnad, including a chain of corroboration leading back to Mohammed; and the matn, which is the text of the tradition itself.  Legal matters and personal conduct are included in, for ten points, what written body of Mohammed’s sayings, second in importance to the Koran?


ANSWER:  Hadith

5.
This work includes quotes such as “A foolish consistency is the hobgoblin of little minds” and “Whoso would be a man must be a nonconformist.”  The author notes that all people quest for the Oversoul in, for ten points, what Transcendentalist essay by Ralph Waldo Emerson, stressing the title quality?


ANSWER:  “Self-Reliance”

6.
For ten points, what type of mimicry, first observed by a German entomologist, occurs when two distasteful species, such as the yellow jacket wasp and the bumblebee, mimic each other, making it the counterpart to Batesian (BATES-ee-an)?

ANSWER:  Müllerian mimicry

7.
He never hit more than 33 home runs in any one season, yet somehow slugged 504 for his career.  He got #500 off of Felipe Lira on September 6, 1996 in Camden Yards, for the team where he spent his first twelve Major League seasons, beginning in 1977.  For ten points, what Orioles first baseman also collected 3000 hits, and in January 2003 was elected to the Baseball Hall of Fame?

ANSWER:  Eddie Murray

8.
It is often denoted by the Greek letter phi (fee), and exactly equals (1 + √5)/ 2 (the quantity 1 plus the square root of 5, divided by two).  For 10 points, what relationship is shared by the Parthenon, seashells, and a regular pentagon, which is approximately 1.61 : 1?

ANSWER: GOLDEN RATIO
9.
For 10 points, how many adjectives are in the following sentence? She picked up her yellow ball and threw it at her little brother, who ran crying to his mother.

ANSWER: FIVE (her, yellow, her, little, his)

10.
American Indians gave this nickname to members of the 24th, 25th, 38th, 39th, 40th and 41st Infantry Regiments due to their black skin. For 10 points, what was that nickname, later made famous by Bob Marley in a song of the same name?

ANSWER: BUFFALO SOLDIERS
11.
GAIN is a major producer of annoying pop-up advertisements encountered while surfing the Internet. However, this program is better known by the “G” in its name. For 10 points, what is this program that shares a name with an animal that is the mascot for the University of Florida?

ANSWER: GATOR
12.
The amount of heat required to transform an amount of a substance from the liquid phase to the gas phase is the heat of, for 10 points, what?

ANSWER: VAPORIZATION
13.
According to Herodotus (heh-RAH-doh-tuss), it lived in Arabia, had a life span of 500 years, and had red and gold feathers.  Sacred in Egypt, for ten points, what mythological bird would build its own funeral pyre, burning itself to ashes so a new one would rise for another 500 years?


ANSWER:  phoenix
14.
This word can refer to the presence of a given trait in both members of a pair of twins. More often, this word refers to an alphabetical index of all the words in a text, showing the context of each appearance of that text. For 10 points, what is this term that is most often used with the Bible?

ANSWER: CONCORDANCE
15.
The testimony of Pinkerton detective James McParland was able to break this organisation whose members were also members of the Ancient Order of Hibernians. In the 1860s and 1870s, this group conducted a guerrilla war against coal mine owners in central Pennsylvania. For 10 points, what was the name of this organization that took its name from an 18th century Irish widow?

ANSWER: MOLLY MAGUIREs

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
The only evidence left by the colonists at Roanoke Island was what word carved into the palisade surrounding the colony?

ANSWER: CROATOAN
1B.
What class of organic compounds includes acetone?

ANSWER: KETONEs

2A.
Which form of precipitation occurs when rain formed in warm weather in the upper atmosphere converts to ice pellets by the time it hits the ground, as opposed to hail?

ANSWER:  sleet
2B.
THIS IS A COMPUTATION QUESTION. Starting at the origin and moving in the positive x direction, what are the first three x-values, including the origin and measured in radians, at which the unmodified graph y equals cosecant x (y = csc(x)) has vertical asymptotes?

ANSWER: X = 0, π, 2π
3A.
The Church of Santa Maria della Grazie (GRAHTZ-ee-ay) and the Tempietto were both designed by what foremost Italian High Renaissance architect, who also made the main redesign of St. Peter’s basilica?

ANSWER:  Donato Bramante
3B.
What eleven-letter word that comes from Greek describes someone who hates all mankind?

ANSWER: MISANTHROPE
4A.
Antonin Artaud’s (ar-TOH’s) theoretical work greatly influenced what avant-garde dramatic movement, whose playwrights included Genet (zhen-AY), Beckett, and Ionesco, emphasizing the nightmarish, fantastic, and strange?

ANSWER:  theater of the absurd
4B.
Jacob Blessing the Sons of Joseph and The Hundred Guilder Print were artworks rendered by which Baroque master, who also painted The Anatomy Lesson of Dr. Tulp and The Night Watch?

ANSWER:  Rembrandt van Rijn

5A.
THIS IS A COMPUTATION QUESTION. Values 1 through 26 are assigned to letters A through Z in order.  For example, N = 14.  What is the product of the valued letters in the word “mow”?

ANSWER: 4485
5B.
In 1980, the Mariel boatlift brought refugees from this country to the United States.  What nation saw Fulgencio Batista overthrown in a revolution in 1959, which was led by Fidel Castro?

ANSWER:  Cuba
6A.
At what 1854 Crimean War battle did the Earl of Cardigan lose one-third of his troops, some in the famous “Charge of the Light Brigade?”

ANSWER:  Battle of Balaklava

6B.
What German anatomist who worked on histology is best known for describing a portion of the kidney tubule, a “loop” that is now named after him?

ANSWER:  Friedrich Henle
7A.
If a change is imposed on a system at equilibrium, the position of the system will shift in a direction that tends to restore equilibrium. What is this principle named for a French chemist?

ANSWER: LE CHATELIER’S (shat-LEE-ay) principle

7B.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the binary bit pattern, that is, the binary series of 1’s and 0’s associated with the octal number 76?

ANSWER: 111 110 (one-one-one one-one-zero)

8A.
The Commission on Opportunity in Athletics rejected in January proposals to overhaul what landmark law passed in 1971 to outlaw gender discrimination in schools that receive federal funding?

ANSWER: TITLE IX 

8B.
What 1958 novella by Truman Capote features a writer named Fred and a 19-year old girl named Holly Golightly?

ANSWER:  Breakfast at Tiffany’s
9A.
What co-founder of the Scriberlus Club wrote “An Epistle to Dr. Arbuthnot,” “An Essay on Criticism,” “An Essay on Man,” and the mock epic “The Rape of the Lock?”

ANSWER:  Alexander Pope

9B.
What British vampire recently got his soul back, yet was still influenced to kill people by the First Evil on the seventh season of “Buffy the Vampire Slayer?”

ANSWER:  Spike (prompt on “William” or “William the Bloody”)

10A.
For 10 points, who came up with an industrial production function along with his partner, Charles Cobb?

ANSWER: Paul H. DOUGLAS
10B.
If the price of a good increases, demand goes down, and if the price goes down, the demand goes up. What is the term that describes the response in one economic variable to a change in another?

ANSWER: ELASTICITY (accept ELASTIC)

Third period: 15 tossups
1.
Peru’s industry in this animal can often be affected by shifting El Niño patterns.  The common type is also called white bait, and has a silver stripe across the side of its body.  For ten points, what type of fish is often served as a (disgusting) topping on pizza?

ANSWER:  anchovy
2.
Dr. Edwin James was the first person to climb it successfully. Its discoverer called it Grand Peak in 1806, and failed to climb it successfully, but mapmakers named it for its discoverer, an American army officer sent to explore the West by Thomas Jefferson. For 10 points, what is this Colorado mountain?

ANSWER: PIKES PEAK
3.
This three-act play is set in a corner restaurant in a small town about thirty miles west of Kansas City.  Dr. Lyman quotes Shakespeare to impress people, while Cherie is a wannabe nightclub singer and Bo Decker is a young cowboy in, for ten points, what 1955 play by William Inge?

ANSWER:  “Bus Stop”
4.
Two sets of this work were released in 1878 and 1886; the first of which the composer completed at the urging of Johannes Brahms.  Written for both piano duet and for orchestra, for ten points, what set of musical “dances,” a long-time “Pops” favorite, brought international acclaim to its composer, Antonin Dvorak (d-VOAR-zhak)?

ANSWER:  “Slavonic Dances” (sluh-VAH-nick)

5.
His friend Dave teaches him the rules of the trail; another companion of his named Curly is killed for making friendly advances.  Manuel steals him from Judge Miller, and Hal owns him before John Thornton finally treats him kindly.  For ten points, what part Scottish shepherd, part St. Bernard is the protagonist of Jack London’s The Call of the Wild?

ANSWER:  Buck
6.
The words monomictic and holomictic refer to the turning circulation of these bodies of water, while epilimnion and hypolimnion refer to the density of their water layers.  For ten points, what general name is given to inland bodies of water, such as Baikal, Titicaca, and Superior?


ANSWER:  lakes  

7.
 French verbs form this tense with the present tense of avoir or être and the past participle of the verb. For 10 points, what is this French past tense that gets its name because it has two words?

ANSWER: PASSE COMPOSE (PAH-say cohm-poh-ZAY) (accept PAST COMPOUND or COMPOUND PAST)

8.
This mountain range’s two arms are the Oriental (oh-ree-AYN-tahl) and Occidental (oak-see-DAYN-tahl). For 10 points, what is this mountain range that comprises most of Mexico?

ANSWER: SIERRA MADRE
9.
THIS IS A COMPUTATION QUESTION. A fill-in puzzle has all the answers given in a word bank, and two given words are set on a cross-word puzzle board.  The given word is “bests”, spelled down, with the other given word “bay” spelled across using the same first letter.  If the choices of words beginning with ‘a’ to be spelled down are “about”, “abler”, and “annex”, for 10 points, what are the odds that the word directly below “bay” begins with “ab”?

ANSWER: 0% (the word must start with an ‘e’ from bests)

10.
Even though he is worth over $20 million, he initiates Operation Grand Slam in an attempt to steal billions.  Employer of pilot Pussy Galore and Korean henchman Odd Job, for ten points, what title villain, played by Gert Frobe, almost kills James Bond with a “lay-zer” in a 1964 classic, parodied by Mike Myers in 2002?

ANSWER:  Auric Goldfinger
11.
On PCs, this type of firmware contains all the code required to control the keyboard, display screen, disk drives and peripheral communications. It is usually stored on a ROM chip to protect it from disk failure, but is often transferred to RAM before execution to allow faster reading. Some modern PCs have this on a flash memory chip as well so it can be updated. For 10 points, what is this built-in software that allows a computer to begin loading the operating system?

ANSWER: BIOS (BYE-ohs) or BASIC INPUT/OUTPUT SYSTEM
12.
In Shakespeare’s play “The Merchant of Venice,” Antonio is almost forced to give “a pound of flesh” to, for ten points, which Jewish moneylender?

ANSWER:  Shylock

13.
In return for military service and sworn allegiance, medieval feudal lords often gave their vassals, for ten points, what estates of land, which carried their own jurisdiction?

ANSWER:   fiefs (or fiefdoms)

14.
Hardline Leninist Bernard Coard overthrew the more moderate socialist Maurice Bishop, prompting several of this country’s Caribbean neighbors to request US intervention. In 1983, American soldiers then invaded, for 10 points, what Caribbean island?

ANSWER: GRENADA
15.
This company has just replaced all but one of its American directors with Germans. For 10 points, what is this company which formed when the makers of the New Yorker and Mercedes merged?

ANSWER: DAIMLER-CHRYSLER (must have both Daimler and Chrysler)

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
For 10 points, what property of a wave is the inverse of frequency and is the amount of time it takes a complete wave cycle to pass a particular point?

ANSWER: PERIOD
2.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the perfect-square trinomial resulting from (x – ½b)2?

ANSWER: x2 - bx + ¼b2
3.
If a prime minister in a parliamentary form of government feels strongly about something, he can call a special kind of vote. If he loses the vote, he has to resign and elections must be held shortly. For 10 points, what is this type of vote?

ANSWER: CONFIDENCE vote (accept NO CONFIDENCE)

4.
It stated that nothing can be taken for granted, and that knowledge must begin with doubt and gradually accumulate evidence before any certainty can be reached.  For ten points, in what 1637 essay does René Descartes (day-CART) proclaim, “Cogito, ergo sum,” or “I think, therefore I am?”

ANSWER:  Discourse on Method or DISCOURSE ON THE METHOD
5.
Though he had converted to Protestantism, he explored his Jewish roots in an unfinished novel, entitled Der Rabbi von Bacherach.  For ten points, what German published poetry collections such as Travel Pictures and Book of Songs, which included his famous poem “Die Lorelei?”

ANSWER:  Heinrich Heine (HINE-uh)

All questions copyright 2003 by the writers. Unauthorized use, as described on the first page of this document, is prohibited.


